XM100/XM101 RLEM/RLEM-TP

Written Examination
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Name: ____________________________ Rank: __________ Date: _________________

1. What is the difference between the RLEM and the RLEM-TP? _________________________________________

2. How can a solder tell the difference between the RLEM and RLEM-TP? ______________________________________

3. Identify all of the major components of the RLEM:

Warhead: ________

Standoff Rod: ______

Tail: ________

Pyrotechnic Adapter: ______

Bullet Trap: _______ 

Fuse: _______
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4. What is the purpose of the Standoff rod? __________________________________

5. What are the two built in safeties that are built into the RLEM? _____________

a. The bullet impact with the bullet trap compressing the diaphragm, and the inertia of the round moving forward compressing the arming spring.

b. Rotating the selector lever from safe to semi, and removing it from the weapon.

c. Screwing in the standoff rod, and the bullet impact with the bullet trap compressing the diaphragm.

6. What type of round is used to fire the RLEM-TP? _____________________

7. What position must the buttstock on the M4 be locked in prior to mounting of the recoil pad? _____________________________________________________

8. What is the optimum firing distance of the RLEM/RLEM-TP? _______________________________________

9. The standoff rod should been attached to the RLEM/RLEM-TP at the last covered and concealed position before your firing location. 

       True / False 

10. The sitting position provides the gunner with a very stable firing platform, a low silhouette, and allows the gunner the ability to move quickly after firing the RLEM/RLEM-TP.  True / False 

11. What are the three misfires that might occur when firing the RLEM?

a. __________________________________________________

b. __________________________________________________

c. __________________________________________________

12. What is the purpose of the aluminum disk on the standoff rod?

a. To stabilize the round while in flight.

b. To prevent the standoff rod from penetrating the target.

c. To cause a great enough impact so that the warhead detonates.

d. None of the above.

13. How many RLEM’s are stored in the carry bag? _________________________

14. It is not recommended to fire the RLEM at what type of door? ____________________________________________________

15. What type of doors is the RLEM designed to engage and defeat?

a. Main entrance doors

b. Swinging doors

c. Interior doors

d. Car doors

16. What safety equipment MUST be worn when firing the RLEM/RLEM-TP? 

a. ____________________________

b. ____________________________

c. ____________________________

d. ____________________________

17. What is the target offsets for the following ranges? (How many inches/feet above center mass of the door?)

a. 15 meters  _____________________________

b. 20 meters  _____________________________

c. 25 meters  _____________________________

d. 30 meters  _____________________________

e. 40 meters  _____________________________

18. What are the procedures if the weapon is fired but the RLEM fails to leave the barrel? _____________________________________________________

19. The RLEM-TP can be reused if the tail fins have minimal damage.  True/ False ______________________________________

20. When should the sitting position be used? _______________________________________

